| Efficiency vs Dxy |
>0.01,
o : 5 5 : : 5 5 : 5
@009t T o T S o

e S e e e
o S A A
O e A A 0 S A
© Foo : : : : : : : :
0.006 it
R
L7 S T R e
R T i

q__'.'.'..'.;..'.'..'.'..;.'.!.'.'..;.'..'.'..'.;.!.'.!.'.;........;.'.!.'.'.,;.'..'.'..'.;.!.'.!.'.;..'.'..'.'.

OET50-15-10 =50 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baseline

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit_var

N 0.1
© : : : : :
D09t Joe o S
> . . . . .

Q g : : : : :
POB
@) r : : : . .
.07 o . frorereeeee A
© F : : : : :
e S S S S
1SS SRS RS M — —

0.0

L e
L L s s
e T e
o Qb Lo o o,
= : : : 5 5

@ r

0.5

9520 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


